[ Efficien

cy vs vertpos |

~ 0.5

20.45
2

2 04
(&)
$0.35
0.3

0.25
0.2

effic

=
T

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__originalREDO

Efficiend —— run_t/DQM_TT_ onlyHits_option0

~ 0.5
20.45F
o
>
2
50.35F
0.3F
0.25F
0.2
0.15F
0.1
0.05F
e

effic

................................................

Ratio

0.95!

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.5
>
B.0.45
0.4
20.35
0.3
£0.25
(]
0.2
0.15F
0.1
0.05

Sim

iency

0955

15 -10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


